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Note for Examinee:   
i) This is an objective type question paper.  

ii) This question paper consists of 15 questions. You have to attempt only 10 questions. Each 

question carries 2½ marks.  

iii) Each question has four alternatives, only one of which is correct. Mark the correct 

alternative on the question paper itself by putting the tick mark √ in the box given against it.  

ON COMPLETION, IT IS COMPULSORY FOR YOU TO SUBMIT THIS QUESTION PAPER TO 

YOUR INVIGILATOR. 

1. Which of the following is not found on the label of a chemical bottle 

i) Name of the Chemical(s) 

ii) Percentage/molarity and  Date  

iii) Aqueous/any other type of  solvent 

iv) colour of the solvent 

2.   For sterilizing glassware in an autoclave you have to: 

i) Allow the temperature to rise upto 160C and continue sterilization at this temperature for 1h. 

ii) Allow the temperature to rise upto 100C and continue sterilization at this temperature for 4h.  

iii) Allow the temperature to rise upto 80C and continue sterilization at this temperature for 6h. 

iv) Allow the temperature to rise upto 60C and continue sterilization at this temperature for12h.   

3.   You must cut the root tip, between 7-9 a.m. when the chromosomes are visible because: 

i) during this time the cells are actively 

dividing  

ii) during this time the chromosomes 

duplicate  

iii) the chromosomes separate during the 

same time 

iv) All of the above 
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4.  Gymnosperms belong to the group: 

i) where the seeds are enclosed with a very conspicuous and independent sporophyte  

ii) where the seeds are naked with a very conspicuous and independent sporophyte 

iii) where the seeds are naked with a very conspicuous and independent gametophyte 

iv) where seeds are enclosed with a very conspicuous and dependent sporophyte 

5.  For preparation of aceto-carmine stain you have to add: 

i) 0.6 g of dry carmine stain +45 mL of glacial acetic acid +55 mL of distilled water 

ii) 0.5 g  of dry carmine stain +45 mL of glacial acetic acid +55 mL of distilled water 

iii) 0.4 g  of dry carmine stain +50 mL ml of glacial acetic acid +50 mL of distilled water 

iv) 0.3 g of dry carmine stain +45 mL of glacial acetic acid +55 mL of distilled water 

6.  Orcein is extracted from the plant: 

i) Pinus  roxburghii 

ii) Rocella  tinctoria 

iii) Spirogyra maxima 

iv) Spirogyra elongate 

7.  If you stain the cheek cells of a human female with methylene blue and observe it under the 

microscope you will see a distinct dark staining body attached to the nuclear membrane of each 

cell which is: 

i) a small globule of fat  

ii) a Barr body 

iii) a Golgi body  

iv) a mitochondria 

8.  In monocots plants stomata are found: 

i) on the upper epidermis of leaves 

ii) on the lower epidermis of leaves 

 

iii) on  both epidermis of leaves 

iv) neither on lower epidermis nor on upper 

epidermis 

9.  If decolourisation does not occur in bacterial smear  and it retains the deep violet colour due to 

crystal violet stain then  this indicates that the smear is unaffected by the decolouring agent 

and: 

i) it contains gram positive bacteria. 

ii) it contains gram negative bacteria. 

iii) it contains both  gram positive and gram negative bacteria. 

iv) it contains gram negative bacteria and viruses. 

10.  DNA stands for: 

i) deoxynitronucleic acid 

ii) deoxyribonucleic acid 

iii) deribonucleic acid 

iv) denitronucleic acid 

11.  The components of PDA are 

i) Potatoes- 50 g ,Dextrose- 4 gm ,Agar-3.75 g, Distilled water-250 mL 

ii) Potatoes- 100 g ,Dextrose- 4 gm ,Agar-3.75 g, Distilled water-250 mL 

iii) Potatoes- 150 g ,Dextrose- 4 gm ,Agar-3.75 g, Distilled water-250 mL 
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iv) Potatoes- 250 g ,Dextrose- 4 gm ,Agar-3.75 g, Distilled water-250 mL 

12.  In India,the Western coast is best for marine algae collection during low tides of 

i) the summer season  

ii) the winter season   

iii) the spring season  

iv)  both spring and summer season   

 

13.  On the herbarium sheet the label is placed 

i) on the centre of the page  

ii) bottom left hand corner of the page 

iii) bottom right or left hand corner of the page 

iv) bottom right hand corner of the page 

14.   The Head of the microscope does not have;  

i) two ocular lenses or eyepieces 

ii) objective lens unit 

 

iii) zoom magnification knob 

iv) diopter and a head-objective lens unit 

holding the screw  

15.  Squash technique is a simple method used for the study of: 

i) DNA  iii) Genes 

ii) RNA  iv) chromosomes 
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ç;ksx”kkyk rduhdksa esa lfVZfQdsV dk;ZØe (lh-ih-,y-Vh-) 

ekpZ ijh{kk 2021  

ikB~;Øe dksM: lh-,y-Vh-,y-102: 

ikB~;Øe ”kh"kZd:  thofoKku esa ewyHkwr ç;ksx (ØsfMV: 2) 

le;: ½ ?k.Vk         vf/kdre vad: 25 

Ñi;k fuEufyf[kr fooj.k nhft,% 

vuqØekad la[;k vadksa esa  

         

vuqØekad la[;k 'kCnksa esa  

         

ijh{kk dsUnz dksM 

      

 

fnu vkSj fnuk¡d……………………………….. 

 

ek/;e (vaxszth/fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

dsoy ewY;kadudrkZ HkjsaA% 

çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM:……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj dsUnz dksM ds lkFk  

ijh{kkFkhZ Ñi;k uksV djsaA :     

i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 15 iz”u gSaA vkidks bu esa ls dsoy 10 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 2½ vad 
gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj mlds 
lkeus ckWDl esa √ fpg~u yxkb,A  

iz”uksa ds mÙkj nsus Ik”pkr~] iz”ui= dks vius fujh{kd dks tek djok vfuok;Z gSA  

1. fdlh jlk;u dh cksry ij fuEufyf[kr esa ls dkSu lk yscy ugha gksrk gS % 

i) jlk;uksa ds uke 

ii) çfr”kr@eksyjrk rFkk fnukad 

iii) tyh;@fdlh vU; çdkj dk foyk;d 

iv) foyk;d dk jax 

2. vkWVksDyso esa fdlh dkap ds ik= dks futZehZÑr djus ds fy, vkidks % 

i) rkieku dks 160C rd c<+kuk gksxk vkSj ,d ?kaVs rd bl rkieku ij futZehZdj.k tkjh 
j[kuk gksxk 

ii) rkieku dks 100C rd c<+kdj bl rkieku ij pkj ?kaVs rd futZehZdj.k tkjh j[kuk gksxk 

iii) rkieku dks 80C rd c<+kdj bl rkieku ij Ng ?kaVs rd futZehZdj.k tkjh j[kuk gksxk 
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iv) rkieku dks 60C rd c<+kdj bl rkieku ij ckjg ?kaVs rd futZehZdj.k tkjh j[kuk gksxk 

3. vkidks ewykxz dks çkr% 7&9 cts ds chp dkV ysuk pkfg, tc xq.klw= fn[kkbZ nsrs gSa] D;ksafd% 

i) bl le; dksf”kdk,a lfØ; :i ls foHkktu dj jgh gksrh gSa 

ii) bl le; xq.klw= ¼Øksekslkse½ Hkh f}xq.ku djrs gSa 

iii) vkSj blh le; xq.klw= i``Fkd  gksrs gSa 

iv) mi;qZDr lHkh 

4. ftEuksLieZ ml oxZ ds gSa % 

i) ftuesa cht vkofjr vkSj cgqr Li’V vkSj Lora= chtk.kqmn~~fHkn gksrk gS 

ii) ftuesa cht vuko``r vkSj cgqr Li’V vkSj Lora= chtk.kqmn~~fHkn gksrk gS 

iii) ftuesa cht vuko``r vkSj cgqr Li’V vkSj Lora= ;qXedksn~~fHkn gksrk gS 

iv) ftuesa cht vkofjr vkSj cgqr Li’V vkSj fuHkZj chtk.kqmn~~fHkn gksrk gS  

5. ,lhVks&dkehZu vfHkjatd cukus ds fy, vkidks % 

i) 0-6 xzke “kq’d dkehZu vfHkjatd + 45 feyhyhVj Xysf”k;y ,lhfVd vEy + 55 feyhyhVj 
vklqr ty dks feykuk gksxk 

ii) 0-5 xzke “kq’d dkehZu vfHkjatd + 45 feyhyhVj Xysf”k;y ,lhfVd vEy + 55 feyhyhVj 
vklqr ty dks feykuk gksxk 

iii) 0-4 xzke “kq’d dkehZu vfHkjatd + 50 feyhyhVj Xysf”k;y ,lhfVd vEy + 50 feyhyhVj 
vklqr ty dks feykuk gksxk 

iv) 0-3 xzke “kq’d dkehZu vfHkjatd + 45 feyhyhVj Xysf”k;y ,lhfVd vEy + 55 feyhyhVj 
vklqr ty dks feykuk gksxk 

6. vkslhZu dks fu’df’kZr djrs gSa % 

i) ikbul jkWDlc?kkZbZ ls 

ii) jks”ksyk fVaDVksfj;k ls 

iii) Likbjksxkbjk eSfDlek ls 

iv) Likbjksxkbjk bykSUxsVk ls  

7. ;fn vki fdlh efgyk dh xky dh dksf”kdk dks esfFkyhu Cyw ls vfHkjaftr djds mls 
lw{en”khZ esa ns[krs gSa] rks vkidks dsUnzd dyk ls tqMs+ Li’V xgjs jax ls vfHkjaftr fiaM fn[kkbZ 
nsrs gSa] tks % 

i) olk dh NksVh xksfydk gksrh gS 

ii) ckj ckWMh gksrh gS 

iii) xkWYth ckWMh gksrh gS 

iv) ekbV¨dkWfUMª;k gksrh gS 

8. ,dchti=h ikniksa esa ja/kz ik, tkrs gSa % 

i) ifÙk;ksa dh Åijh ckº;Ropk ij 

ii) ifÙk;ksa dh fupyh ckº;Ropk ij  

 

iii) ifÙk;ksa dh nksuksa ckº;Ropk ij 

iv) u rks fupyh ckº;Ropk ij vkSj uk gh 
Åijh ckº;Ropk ij  
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9. ;fn thok.koh; vkysi esa fojatu ugha gksrk gS vkSj ;g fØLVy okW;ysV vfHkjatd ds dkj.k 
xgjs cSaxuh jax dks cuk, j[krs gSa] rks ;s bafxr djrk gS fd vkysi fojatu deZd }kjk 
vçHkkfor jgrk gS vkSj % 

i) blesa xzSe xzkgh thok.kq gSa 
 

ii) blesa xzSe vxzkgh thok.kq gSa 

iii) blesa xzSe xzkgh vkSj xzSe vxzkgh thok.kq 
nksuksa gSa 

iv) blesa xzSe vxzkgh thok.kq vkSj fo’kk.kq gSa 

10. Mh,u, dk iw.kZ uke gS % 

i) MhvkWDlhukbVªks U;wDyhbd vEy 

ii) MhvkWDlhjkbcks U;wDyhbd vEy 

iii) Mhjkbcks U;wDyhbd vEy 

iv) MhukbVªks U;wDyhbd vEy 

11. ihMh, ds ?kVd gSa % 

i) vkyw & 50 xzke] MSDlVªkst+ & 4 xzke] ,xkj & 3-75 xzke] vklqr ty & 250 feyhyhVj 

ii) vkyw & 100 xzke] MSDlVªkst+ & 4 xzke] ,xkj & 3-75 xzke] vklqr ty & 250 feyhyhVj 

iii) vkyw & 150 xzke] MSDlVªkst+ & 4 xzke] ,xkj & 3-75 xzke] vklqr ty & 250 feyhyhVj 

iv) vkyw & 250 zee] MSDlVªkst+ & 4 xzke] ,xkj & 3-75 xzke] vklqr ty & 250 feyhyhVj 

12. Hkkjr esa if”peh leqnzh rV bl _rq esa fuEu Tokj ds le; “kSokyksa ds laxzg.k ds fy, Js’B 
 gSa% 

i) xzh’e _rq 

ii) “khr _rq 

iii) clar _rq  

iv) clar vkSj xzh’e nksuksa _rqvksa esa 

13. gjcsfj;e “khV ij ysfcy yxk;k tkrk gS 

i) i``’B ds e/; Hkkx esa 
 

ii) i``’B dh ryh dh vksj ds ck,a dksus esa 

iii) i``’B dh ryh dh vkSj ds ck,a vFkok nk,a 
dksus esa 

iv) i``’B dh ryh ds nk,a dksus esa 

14. lw{en”khZ ds gSM esa ugha gksrs gSa  

i) nks vkWD;wyj ysal vFkok vkbZihl 

ii) vkWCtsfDVo ysal ;wfuV 

 

iii) twe vko/kZu ukWc 

iv) Mk;sIVj vkSj gSM vkWCtsfDVo ysUl ;wfuV 
gksfYaMx LØw 

15. LDok”k rduhd blds v/;;u ds fy, O;kid :i ls mi;ksx dh tkus okyh ,d lkekU; 
 fof/k gS % 

i) Mh,u ds 

ii) vkj,u, ds 

iii) thu ds 

iv) xq.klw= ds 
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